R#ETFAL B #E o1

RD ook (S35, A0, Bik173208, C#247)
(1) 24V FiL= cm? (20 3BF¥Uv b= )y kL
(3)  1500cm® = Uy b 4) 5Yv b= T Uy b
(5) 75¥vY v b= Uy b (6) 32009 v FL = m?
(7) 008V v b= cm? (8)  1.44m3 = Jw b
(9) 1600 VY b= )y kL (10) 507> Yy b= cm?®
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RD DK (S35, A0, BRk15 208, C#247)

(1) 18VYv k= cm? (2) 47T7¥VYv b= Vo b
(3)  6200cm?® = Uy b (4) 25Uy b= Ty b
(5)  4.05%¥vVYv b= Uy L (6) 3900V v b= m3

(1) 003V b= cm?® (8)  2.84m3 = Y b

(9) 5400 2V VY v ML= )y bv (10) 97¥ Vv kL= cm?3
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RETFAN  Hfi

KD

#FHE o1

ZHADX. (S35, AS0F, B#15208, C#24r)

* FEOEAM EFRIE 1000 3 OEHS. (*fFIN 1LY v ML) =10dL(TY Y RIL))

* REE 1L(Ywv ML) = 1000cm?
KL(Fa Yy b)) LYy ) [dL(T> Yy b)) [mL(SY Yy b

Hl3 CHl3

cC
1 1000 1000000 (E17)
1 10 1000

(1) 24V v bFl=| 2400 |cm? (2) 3BF¥Yvwhkil=|35 Yy
(3)  1500cm®=1| 1.5 | Vv kL (4 5YvyrL=]|50|F>Yv L
(5) 75%uvyvhil=|7500 Yy L 6) 3200V v bhi=| 3.2 [m
(7)  0.08Yv FriL=| 80 [cm? (8) 1.44m® =1 1440 [V vy bV
(99 160032V Yvybi=|16 YUy L (10) 507> YUy FL=]| 5000 [cm?
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(3)

(5)

(7)

(9)

1.8 v bl =] 1800 |[cm?

6200cm® = | 6.2 | Y v bJL
4.05%F01 Y v )b =| 4050 |V v F)b
003V v bl=| 30 |cm?

5400 SV Y v bb=| 54 [Uv bl

(2)

(4)

(6)

(8)

(10)

DX (S35, AS0F, B#15208, C#24y)

A7 573V FL =

4.7

Uy bb

25w bl =| 250

3900 Y v FL =

3.9

2.84m* = | 2840

9"7‘)\“/]) v ML=

900

T v hL

Yy b

cm
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